EARAROBEEIERT — 2 N— IBISH —F

2018527160 (&) 25mEHE4H

BN =557 v5%4meoP

‘ [Riz] ¥ ‘ [REBE] — | & (&) 1900M 4=

[A&E4] 1 7 4,000,000 23 :1,000,000 8 33 :400,000  ~ 4 3% :240,000 @ . 5 7 :160,000 M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
: = . DA _ F=Iml
KILGF 14— it 4 5.%5_7395 2.(0_6).0 3-2-4-2 |39.2 8 :1+314) ﬁég%ﬁ (BER)
LixALI=ZTr—R B:AXIATH— BHIT7—L
5,0, = 8, @ Hh% :06. 810 . - EAEER (FiH)
TITA32=3% #H 5 s 2(70?‘:; 8-8-10-6 | 38.9 1 (5_130) e
L:TANRTyYa BI-YrhU—F EES
- - > 6 | tHEM 2:06.2 1-1-1-1 |39.9| — 9 481 | TR (BHE)
P “ |50 (3/4) L | =
L:F1=TAHA B:ibhol—TrpraT— H—L— - TS  « Ty— LERE
iS5, — 6 | SHEKX 2:06. 11-11-12-9 | 388.7 | — 11 479 | BAXLC (BHE)
77ah—1—' 57.0 (7€) (1) |BEEEX
R:TS5AT7LX214 4L B:EYVZZOTY =i BB
N S o6 | FAHRE 2:06.6 2-3-3-3 [39.9| — 2 476 | FEHES (BHE)
5(7|9|¥>7>RA> 57.0 A 1/2) (g) | LEHER
BT ITFANRT R BENTFIN— WA K
SILIS 49 | RIBAER 2:06.8 10-10-9-10 | 39.6 | — 10 | 468 |ZHEES (BHE)
6156 XED = JVN 57’_'0 o o ) SvFos5T
L:xoindO— BXEYU-TTU—+ BA Bk
5 47 | MRS 2:07.0 4-4-2-4 | 40.6| — 4 479 | HFLE— (BHE)
718111 AXE®F—4 L 57.0 (1) -1) HrUEE
RTYUSTuR BiATU—F— b RS
— s S, S AR . —6-7— = M2 TR (BHE)
8 1|1 |FATas v # o | E pore | eeTs w0l - | | R
R:Z2Gr T hA =7 —K—FK B:¥A127> HAREE
« oo JEIE— -07. —7-8- . — EHE (FEk)
9l8l12 TILKRY w 4 8 5y 2(047)9 7-7-8-12 | 40.7 6 (5_265) —H;_.ffﬂz
R4 N=Hh> b= B:TLAXTIN=F Etie]
5 7o 2 KIHEE :08. -9-5- . = SiEtEy (BHE)
1007110 TH YRS R 210 50 = 2(028)3 9-9-5-8 41.4 5 (4_945) i
X2 THANAN B:LYyIL—X HET7—L
. 4 o8 | EERRA 2:08.5 5-5-6-7 | 41.5| — 7 489 | AEIED (BHE)
111 5| 5 A NTANX K 57.0 (11/2) -1) EHEEHK
AR v —T BivaUtA a2 HET77—L4
s . S > 8 | AEBE 2:08.6 12-12-11-11{ 41.1 | — 12 | 485 |AmEEDL (BHE)
EH7 v Ry #—FR ~ %1570 (1/2) 42 | (@) JPNEHR
LN—=v774 B:Yv RyILT pAcie]
@ 1—F—@&BIEf
13=zr= 8,9,3,11,5,1,12,2,10,6,4,7
Aol=5r= 8,3,9,11,5,1,12,2,10,6,4,7
G§a=7r= 8,11,9,3,10,5,1,12,6,2,7,4
41—+ — 8,3,9,11,1,2,5,10,4,6,7,12
[ RN
B OB 3 3,610 714K 2-3 1,390H e & 2-3 2,450H &R 2-3-8 21,980
8 B 3 730 3-8 8,060 B E 2=8) 3,040M JEH 3-2-8 180,620H
2 1704 2-8 1,370 B H 3-2 9,050
8 660M

ABICOVWTRDTEEERROODE. TR LIV,




